# **Kennedy Baptist College**



# ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 13th December 2024 Using "XQW2" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

### PREPACKAGED DELIVERY SERVICE

### HOME DELIVERY

Your order will be delivered by the 28th January 2025 for \$5.00, if placed on or before the return date of Friday 13th December 2024.

Orders placed after the return date will incur a late fee of up to \$17.50. If ordering later please allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to our website @ www.Campion.com.au for all up-to-date information and terms & conditions.



Ø Qty Unit Item Item Total Description Reqd Price \$ Amount \$ Office Use Read YEAR TWELVE Digital texts: Students can access their digital texts by logging into their MyConnect2 account after purchase. We strongly recommend using your school email address to log in before the school year begins. Further information on MyConnect2 and how to login to the students account can be found at: https://campion.com.au/find-my-school/ Digital texts are valid for 1 year (unless otherwise stated). Digital resources cannot be returned, refunded or exchanged for change your mind. We recommend you please order your items carefully ensuring the correct resources are selected for your child's subjects. SCHOOL RESOURCES Computer: All students require a portable computer meeting the College's minimum specifications. (Retain from previous year). Resource fee per student \$100 which will be added to your College invoice. **ACCOUNTING AND FINANCE: ATAR** P19828 WA ATAR Accounting 3 (2E) [Doyle] 2 1 95.00 95.00 P09366 3 103.95 103.95 WA ATAR Accounting 4 (2E) [Doyle] 1 P35924 WA Accounting and Finance Yr12 ATAR Course Guide 2025 [Timothy 4 1 30.90 30.90 Coveney] P50026 Account Book A4 24 Lf A24 D/Ledger Red/Green Cover 5 5.95 5.95 1 P50025 6 Account Book A4 24 Lf A24 Journal Red Cover 1 5.95 5.95 P55274 7 Calculator Sharp Scientific EL-531 32.25 32.25 (Retain from previous year) **BIOLOGY: ATAR** P19689 Biology WA ATAR 3&4 (Print & Digital) [Skirving et al] 102.95 102.95 11 1 Required P35590 Creelman Exam Questions Biology ATAR 3&4 2025 [Amanda Huke] 12 1 50.00 50.00 If ordered online, will be delivered in bulk to the school. Due Approx, March 2025 P33208 13 WA Biology Yr12 ATAR Study Guide 3E [Peter Walster] 1 59.00 59.00 Optional **BUSINESS MANAGEMENT & ENTERPRISE: ATAR** P50451 Exercise Book A4 96 Page 8mm with Margin Spirax #108 14 1.65 3.30 USB Pocket Flash Drive 32GB is required to be brought to each lesson. **BUSINESS MANAGEMENT & ENTERPRISE: GENERAL** USB Pocket Flash Drive 32GB is required to be brought to each lesson. **CERTIFICATE II FINANCE** Additional resource fee of \$60 is required to cover Certification costs. This amount will be added to your College invoice. CERTIFICATE II WORKPLACE SKILLS Additional resource fee of \$60 is required to cover Certification costs. This amount will be added to your College invoice. **CHEMISTRY: ATAR** Scientific calculator as per WACE standard. P05724 WA ATAR Essential Chemistry 3&4 (includes 2Yr Access Code) [Nick Lucarelli] 19 89.95 89.95 1 Required P35880 WA ATAR Exploring Chemistry Yr 12 (SPIRALLED) 2E [STAWA] 20 1 45.50 45.50 Required (Due approx. December 2024)

21

1

59.00

59.00

WA Chemistry Yr12 ATAR Study Guide (Rev Edn) [Michael Lucarelli, David

Proctor]

P30300

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	Optional					
P35592	Creelman Exam Questions Chemistry ATAR 3&4 2025 [Lyndon Smith]	22		1	50.00	50.00
	Optional If ordered online, will be delivered in bulk to the school. Due Approx, March 2025					
	CHILDREN FAMILY & COMMUNITY: GENERAL					
P55094	Binder A4 Half Lever Arch 50mm Board Black	23		1	7.05	7.05
P55710	Dividers Index A4 5 Tab PVC Multi Coloured	24	_	1	2.20	2.20
P56387	Loose Leaf Refills Reinforced A4 7mm Pkt 50	25		1	2.30	2.30
	CHINESE: SECOND LANGUAGE: ATAR					
P06849	Oxford Chinese Dictionary (H/B) [Oxford]	26		1	139.95	139.95
	DANCE: ATAR					
	Sports top - Available from College Uniform Shop. Black plain 3/4 length tights shoes (compulsory) \$69.95 Black cotton lycra adult energetiks leotard - style A stockings - flesh coloured leotard (compulsory, females only) 1x Costume/Garravailable from Studio Scene: 352 Marmion Street, Melville	È01 (cα	ompulsory, fem	ales only)	\$35 Flesh	body
P06048	WA ATAR Dance: A Resource for Yr 12 [S Chapman, M Jasper, R Sutherland]	27		1	54.95	54.95
	DANCE: GENERAL					
P06047	WA Dance: Yr 12 General [S Chapman, M Jasper, R Sutherland]	28		1	54.95	54.95
	Sports top - Available from College Uniform Shop. Black plain 3/4 length tights shoes (compulsory) \$69.95 Black cotton lycra adult energetiks leotard - style A stockings - flesh coloured leotard (compulsory, females only) 1x Costume/Garr available from Studio Scene: 352 Marmion Street, Melville editEdit	L01 (co	ompulsory, fem	ales only)	\$35 Flesh	body
	DRAMA: ATAR & GENERAL					
	RETAIN FROM PREVIOUS YEAR: Drama Uniform: Students are required to p examinations. This includes (A) a loose fitting black t-shirt with short sleeves ar pants/tracksuit pants in which the student can freely move. (The fabric of the C	nd rour	id neckline and	l (B) full ler	ngth, black	
	ECONOMICS: ATAR					
P35446	WA ATAR Investigating Macroeconomics Yr 12 8E [Greg Parry, Steven Kemp]	30		1	90.00	90.00
	(Due approx. December 2024)		_			
P35593	Creelman Exam Question Economics ATAR 3&4 2025 [Andrew Tibbitt]	31		1	50.00	50.00
	If ordered online, will be delivered in bulk to the school.  Due Approx, March 2025					
P51347	Display Book A4 40 Pocket with 5 Dividers	32		1	9.95	9.95
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	33		2	1.65	3.30
	ENGINEERING STUDIES: ATAR					
P55442	Display Book A4 20 Pocket Black Refillable	34		1	2.15	2.15
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	35		1	9.55	9.55
P50271	Pencil (HB) Goldfaber	36		2	0.65	1.30
	Genuine Arduino UNO Rev3 Arduino Development Board is required. USB Pocket Flash Drive 32GB is required to be brought to each lesson.					
	ENGINEERING STUDIES: GENERAL					
P55442	Display Book A4 20 Pocket Black Refillable	37		1	2.15	2.15
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	38		1	9.55	9.55
P50271	Pencil (HB) Goldfaber	39		4	0.65	2.60
	Genuine Arduino UNO Rev3 Arduino Development Board is required. USB Pocket Flash Drive 32GB is required to be brought to each lesson.					

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	ENGLISH: GENERAL					
P55446	Display Book A4 20 Pocket Green Refillable	40		1	2.15	2.15
P55496	Document Wallet FC Slimpick Purple	41		1	1.10	1.10
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	42		3	2.15	6.45
	ENGLISH: ATAR					
F67931	Kennedy Baptist Revise Online Year 12 English	44		1	30.00	30.00
	(Please provide payment to Campion. Access will be provided in class)					
P35527	Good Answers ATAR English 2025 (Term 2) [ETAWA]	45		1	31.50	31.50
	If ordered online, will be delivered in bulk to the school. Due Approx, May 2025					
P08188	Insight Year 12 English WA (Print & Digital) Rev	46		1	54.95	54.95
P34961	End We Start From, The [Megan Hunter]	47		1	21.99	21.99
P55496	Document Wallet FC Slimpick Purple	48		1	1.10	1.10
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	49		3	2.15	6.45
	ENGLISH AS AN ADDITIONAL LANGUAGE/DIALECT: ATAR					
P55496	Document Wallet FC Slimpick Purple	50		1	1.10	1.10
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	51		2	1.65	3.30
	FOOD SCIENCE & TECHNOLOGY: GENERAL					
P55110	Binder A4 2D Ring 25mm PE Black	52		1	5.45	5.45
	FRENCH SECOND LANGUAGE: ATAR					
	Retain Pearson Quoi de Neuf? Senior SB/EB from previous year					
P16664	Collins French Dictionary and Grammar 8E [Collins Dictionaries]	53		1	32.99	32.99
P50451	(Retain from previous year)	E 1		2	1.65	3.30
P50328	Exercise Book A4 96 Page 8mm with Margin Spirax #108	54		1	2.15	3.30 2.15
P55496	Exercise Book A4 128 Page 8mm with Margin Spirax #110  Document Wallet FC Slimpick Purple	55 56		1	1.10	1.10
	GEOGRAPHY: GENERAL		_			
P30106		E 7		4	76.00	76.00
P50451	WA ATAR Geography Units 1&2 2E [A. Griffin, T. Smith]	57		1	76.90	76.90
P50431	Exercise Book A4 96 Page 8mm with Margin Spirax #108	58		2	1.65	3.30
P56252	Glue Stick 40gm UHU Pencils-Coloured 12's Colourush	59		1	3.40	3.40
		60		1	4.60	4.60
P56353 P56414	Protractor 10 cm 180 4" Half Circle	61		1	0.45	0.45
P50414 P50465	Ruler 300mm Plastic Clear Scissors 216mm Orange Handle	62 63		1 1	0.75 3.00	0.75 3.00
	•		_			
P31940	GEOGRAPHY: ATAR WA ATAR Geography Units 3&4 3E [K. Bell]	64		4	76.90	76.90
P35529	Student's Guide to the 2025 Yr 12 ATAR Geography Examination [D. Roberts,	64 65		1 1	37.90	76.90 37.90
	R. Whitty] If ordered online, will be delivered in bulk to the school.					
DEOAEA	Due approx. April 2025	00		0	4.05	0.00
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	66		2	1.65	3.30
P56414	Ruler 300mm Plastic Clear	67		1	0.75	0.75
E67022	HEALTH STUDIES: ATAR	00		4	00.00	00.00
F67932	Kennedy Baptist Revise Online Year 12 Health	68		1	30.00	30.00
P50451	(Please provide payment to Campion. Access will be provided in class) Exercise Book A4 96 Page 8mm with Margin Spirax #108	69		1	1.65	1.65
	HUMAN BIOLOGY: GENERAL					
P35887	WA Year12 General Human Biology WB 2E [STAWA]	71		1	45.50	45.50

L0960 YR 12 Page 4

Required   Creelman Exam Questions Human Biology ATAR 3&4 2025 [Susan Fahey]   77	Office Use	Description	Item No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
Required   Creelman Exam Questions Human Biology ATAR 3&4 2025 [Susan Fahey]   77		HUMAN BIOLOGY: ATAR					
Creelman Exam Questions Human Biology ATAR 3&4 2025 [Susan Fahey]	P13290	· · · · · · · · · · · · · · · · · · ·	76		1	91.95	91.95
WA Hum. Biology Yr12 ATAR Study Guide (Rev Edn) [Glenda Leslie]	P35595	Creelman Exam Questions Human Biology ATAR 3&4 2025 [Susan Fahey]  Required  If ordered online, will be delivered in bulk to the school.	77		1	50.00	50.00
SCIENCE IN PRACTICE: GENERAL   Year 12 Integrated Science students are not expected to purchase a textbook. The Science Department will provide students with Workbooks.   Exercise Book A4 128 Page 8mm with Margin Spirax #110	P30301	WA Hum. Biology Yr12 ATAR Study Guide (Rev Edn) [Glenda Leslie]	78		1	59.00	59.00
Year 12 Integrated Science students are not expected to purchase a textbook. The Science Department will provide students with Workbooks.	P30307	WA Human Biology Yr12 ATAR Revision Series (Revised Edn) [Ant Meczes]	79		1	59.00	59.00
Exercise Book A4 128 Page 8mm with Margin Spirax #110		Year 12 Integrated Science students are not expected to purchase a textbook.	The So	cience Depar	tment will pr	ovide stud	ents with
Rennedy Baptist Revise Online Year 12 Literature	P50328		80		1	2.15	2.15
Please provide payment to Campion. Access will be provided in class		LITERATURE: ATAR					
Hamlet (Cambridge School Shakespeare) (3E) [Gibson (Ed.)]	F67930	• •	81		1	30.00	30.00
No Sugar (Currency Play) [Jack Davis]	P04713		82		1	19.95	19.95
Sorry [Gail Jones]	P15076	Lost Honour of Katharina Blum, The [Heinrich Boll]	83		1	22.99	22.99
Document Wallet FC Slimpick Purple	P02128	No Sugar (Currency Play) [Jack Davis]	84		1	24.99	24.99
Exercise Book A4 128 Page 8mm with Margin Spirax #110 87	P03980	Sorry [Gail Jones]	85		1	22.99	22.99
MATERIALS DESIGN & TECHNOLOGY: GENERAL The following resources are relevant to both the WOOD and METAL contexts. If both METAL and WOOD are being studied, please purchase two (2) sets of each resource.  P55442 Display Book A4 20 Pocket Black Refillable 88	P55496	Document Wallet FC Slimpick Purple	86		1	1.10	1.10
The following resources are relevant to both the WOOD and METAL contexts. If both METAL and WOOD are being studied, please purchase two (2) sets of each resource.  P55442 Display Book A4 20 Pocket Black Refillable 88	P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	87		1	2.15	2.15
Display Book A4 20 Pocket Black Refillable   88		The following resources are relevant to both the WOOD and METAL cont	exts. If	both METAI	_ and WOO	D are bein	ıg studied,
MATHEMATICS ESSENTIALS: GENERAL  Pl3603 Nelson AC Senior Maths Essentials 12 (Print & Digital) 2E [Thomson & Binns] 92	P55442	Display Book A4 20 Pocket Black Refillable	88		1	2.15	2.15
Nelson AC Senior Maths Essentials 12 (Print & Digital) 2E [Thomson & Binns] 92	P50271	Pencil (HB) Goldfaber	89		4	0.65	2.60
A limited number of second hand textbooks may be available to purchase through the College.  Calculator Abacus Scientific SXIIMATRIXN 93		MATHEMATICS ESSENTIALS: GENERAL					
Calculator Abacus Scientific SXIIMATRIXN 93	P13603	` · · · · · · · · · · · · · · · · · · ·		_	1	87.95	87.95
P50451 Exercise Book A4 96 Page 8mm with Margin Spirax #108 94	P51933	Calculator Abacus Scientific SXIIMATRIXN	93		1	43.95	43.95
P56414 Ruler 300mm Plastic Clear 95	P50451	, ,			3	1.65	4.95
- OR -		Ruler		Choose One			
	P56414		95		1	0.75	0.75
	P56409		96		1	0.85	0.85

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	MATHEMATICS APPLICATIONS, ATAR					
	MATHEMATICS APPLICATIONS: ATAR  Scientific calculator - please retain from previous year.  Classpad FX-CP400 - please retain from previous year. (See College webs	eita if c	ordering a n	ow calculato	r Other c	ntions
P33829	are available.)  Nelson WAmaths Mathematics Applications Yr12 (Print&Digital) [Greg Neal et	99		1	93.95	93.95
D00500	al]		_			
P03539	WA Math Applic. Yr12 ATAR Revision Series (Revised Edn) [O. T. Lee]  Optional	100		1	59.00	59.00
	Ruler		Choose One	!		
P56414	Ruler 300mm Plastic Clear - OR -	101		1	0.75	0.75
P56409	Ruler 150mm Plastic Clear	102		1	0.85	0.85
	MATHEMATICS METHODS, ATAD					
	MATHEMATICS METHODS: ATAR  Scientific calculator - please retain from previous year.  Classpad FX-CP400 - please retain from previous year. (See College webs	site if c	ordering a n	ew calculato	r. Other c	options
P33827	are available.)		_			
P33827 P19016	Nelson WAmaths Mathematics Methods Yr12 (Print&Digital) [Greg Neal et al] WA Math Methods Yr12 ATAR Revision Series (Revised Edn) [O. T. Lee]	105 106		1 1	93.95 59.00	93.95 59.00
	Optional	100		'	00.00	00.00
	Ruler		Choose One	!		
P56414	Ruler 300mm Plastic Clear - OR -	107		1	0.75	0.75
P56409	Ruler 150mm Plastic Clear	108		1	0.85	0.85
	MATHEMATICS SPECIALIST: ATAR  Scientific calculator - please retain from previous year.  Classpad FX-CP400 - please retain from previous year. (See College webs	sito if o	ordorina a n	ow calculato	r Othor c	ntions
	are available.)	site ii C	nuering a n	ew calculato	i. Other C	ptions
P17225	WA Math Specialist Yr12 ATAR Textbook (Rev Edn) [O. T. Lee]	111		1	85.00	85.00
P11744 P56409	WA Math Special. Yr12 ATAR Revision Series (Revised Edn) [O. T. Lee]	112		1	59.00	59.00
F30409	Ruler 150mm Plastic Clear	113		1	0.85	0.85
	MEDIA PRODUCTION & ANALYSIS: GENERAL					
P52086	USB Pocket Flash Drive 32GB - NO RETURNS We also recommend students bring their own headphones.	114		1	14.05	14.05
	MODERN HISTORY: GENERAL					
P01039	Germany 1918-1945 (Discovering The Past GCSE) [Greg Lacey et al]	115		1	71.95	71.95
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	116		1	1.65	1.65
	MODERN HISTORY: ATAR					
P14460	Russia Under Tsarism & Communism 1881-1953 (2E) [Fiehn & Corin]	117		1	90.95	90.95
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	118		2	1.65	3.30
	MUSIC: ATAR					
P34729	Year 12 Music Student Workbook [Sarah Stopher]	119		1	55.00	55.00
P55442	Display Book A4 20 Pocket Black Refillable	120		1	2.15	2.15
P55910 P52001	Music Book 297x248mm 15 leaf/30 pages Spirax #567	121		1	4.10	4.10
P52001 P52086	Pencil (2B) Goldfaber USB Pocket Flash Drive 32GB - NO RETURNS	122 123		3 1	0.65 14.05	1.95 14.05
. 02000	OOD I OOKELLIASII DIIVE 3200 - NO NETUNINO	123		ı	14.03	14.00

Page 6

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$			
	MUSIC: GENERAL								
P34728	Year 11 Music Student Workbook [Sarah Stopher]	124		1	55.00	55.00			
1 04720	(Please retain from previous year)	124		ļ	33.00	55.00			
P55442	Display Book A4 20 Pocket Black Refillable	125		1	2.15	2.15			
P55910	Music Book 297x248mm 15 leaf/30 pages Spirax #567	126		1	4.10	4.10			
P52001	Pencil (2B) Goldfaber	127		3	0.65	1.95			
	OUTDOOR EDUCATION: GENERAL								
	Additional resource fee of \$630 to cover the cost of materials, activities and some aspects of expeditions. This amount will be added to your College invoice. A Recreational Skipper's Ticket is required. Recommended: Sleeping bag, sleeping mat, shoes suitable for hiking and rain jacket.								
	PHYSICAL EDUCATION STUDIES: ATAR								
F78730	Kennedy Baptist Revise Online Year 12 Physical Education	128		1	30.00	30.00			
P35599	(Please provide payment to Campion. Access will be provided in class)  Creelman Exam Questions Physical Education ATAR 3&4 2025 [Toby Lewis]	129		1	50.00	50.00			
	Required If ordered online, will be delivered in bulk to the school. Due Approx, March 2025	120	_	·	00.00	00.00			
	PHYSICS: ATAR								
	Scientific calculator as per WACE standard.								
P00528	Pearson WA Physics 12 (SB Print & Digital)	134		1	98.65	98.65			
	Required		<del>_</del>						
P06275	WA ATAR Exploring Physics Year 12 (Spiral) [STAWA]	135		1	45.50	45.50			
	Required								
P30305	WA Physics Yr12 ATAR Study Guide (Revised Edn) [Michael Lucarelli]  Optional	136		1	59.00	59.00			
P35600	Creelman Exam Questions Physics ATAR 3&4 2025 [Jacob Marai]	137		1	50.00	50.00			
	Optional If ordered online, will be delivered in bulk to the school. Due Approx, March 2025		_						
	POLITICS & LAW: ATAR								
P18523	WACE Politics & Law 3&4 Power/Acc/Rights 2E [PLEAWA]	139		1	93.95	93.95			
P35601	Creelman Exam Questions Politics & Law ATAR 3&4 2025 [Stephen King]	140		1	50.00	50.00			
	If ordered online, will be delivered in bulk to the school.  Due Approx, March 2025								
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	141		2	1.65	3.30			
	PSYCHOLOGY: ATAR								
P34056	WA Psychology Yr12 ATAR Revision Series [Sonya Cerny]	144		1	59.00	59.00			
P32705	Nelson VICscience Psychology VCE 3&4 SB&WB Value Pack 4E [Kenna Bradley et al]	145		1	109.95	109.95			
P35602	Creelman Exam Questions Psychology ATAR 3&4 2025 [Claire Halliday]	146		1	50.00	50.00			
	Optional If ordered online, will be delivered in bulk to the school. Due Approx, March 2025								
P55442	Display Book A4 20 Pocket Black Refillable	147		1	2.15	2.15			
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	148	ō	1	1.65	1.65			

			<b>1</b>			
Office Use	Description	Item No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	VISUAL ARTS: ATAR					
P55515	Eraser Artist Kneadable	149		2	2.55	5.10
P55522	Eraser Plastic Pencil Economy in sleeve	150		1	0.70	0.70
P50130	Glue Stick 40gm UHU	151		1	3.40	3.40
P56115	Marker Artline #210 Black 0.6mm	152		2	3.80	7.60
P52001	Pencil (2B) Goldfaber	153		4	0.65	2.60
P52013	Pencil (4B) Goldfaber	154		2	0.65	1.30
P52014	Pencil (6B) Goldfaber	155		2	0.65	1.30
P56245	Sharpener Pencil Metal Single Hole (HQ)	156		1	0.90	0.90
P56679	Visual Art Diary A4 110gsm 100 Sheet	157		1	14.95	14.95
	VISUAL ARTS: GENERAL					
P55522	Eraser Plastic Pencil Economy in sleeve	158		1	0.70	0.70
P50130	Glue Stick 40gm UHU	159		1	3.40	3.40
P56115	Marker Artline #210 Black 0.6mm	160		1	3.80	3.80
P56245	Sharpener Pencil Metal Single Hole (HQ)	161		1	0.90	0.90
P56679	Visual Art Diary A4 110gsm 100 Sheet	162		1	14.95	14.95
	STATIONERY REQUIREMENTS					
	Computer: All students require a portable computer meeting the Coyear). Stationery items should be retained from previous years.	ollege's minir	num specifi	cations. (Re	etain from	previous
P51892	Flash Cards Blank 300gsm 103mm x 203mm Pkt 100	163		1	9.05	9.05
P51464	Headphones Stereo Deluxe Lightweight with Volume Control	164		1	11.05	11.05
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	165		1	14.05	14.05
	Number of Boxes ticked:					
	Postage (Home delivery o	only)	\$5.0	0		
	ESTIMATED AMOUNT D (PRICES CORRECT AT 05/11		\$			

☐ Yes, please email me with information on current Year 11 and 12 Study Guides.

Page 8